- Picture -

Mode MD mode Mod. des. overview E SEDAN

FIN/MD WDB 2110561B386518 Catalog 65H

VIN WDBUF56X29B386518 Major assembly

Sales designation E 350 Major assembly MD

Assortment class Car Group 42 - BRAKES

Market North  America Subgroup 030 - FRONT WHEEL BRAKE
Picture number B42030000146.121218

Copyright Daimler AG, 7/27/16 10:58 AM, EPC 1.31.3.2, DW 01/2014 Page 1




- Parts list -

Mode

FIN/MD

VIN

MD mode

Mod. des. overview E SEDAN

WDB 2110561B386518 Catalog

WDBUF56X29B386518

Sales designation E 350

Assortment class  Car

Market

65H

Major assembly

Major assembly MD

Group

North  America Subgrou

42 - BRAKES

p 030 - FRONT WHEEL BRAKE

Item no.
10

10

10

10

40

50

60

60

70

70

75

75

100

110

Part number
A 004 420 01 83

A 004 420 02 83

A 004 420 17 83

A 004 420 18 83

A 000 421 75 74

A 000 421 97 91

A 000 421 38 65

A 000 421 42 65

A 000 421 27 48

A 000 421 17 48

A 000 420 61 15

A 000 420 62 15

A 005 420 95 20

A 211 540 17 17

Designation/description

CALIPER
PARTS SET, LEFT

'J [003] From Chassis
CALIPER

PARTS SET, RIGHT
'J [003] From Chassis
CALIPER

PARTS SET, LEFT
Code: 951

'J [012] From Chassis
CALIPER

PARTS SET, RIGHT
Code: 951

'J [012] From Chassis
. TS GUIDE PIN

: A 874312 From Date!

: A 874312 From Date!

: A 985069 From Date!

: A 985069 From Date:

BRAKE LINING SPREADER SPRING TO

FRONT AXLE BRAKE
Code: 951

CALIPER

: 30/06/2005 E...

: 30/06/2005 E...

: 19/05/2006 E...

: 19/05/2006 E...

'J [003] From Chassis: A 874312 From Date: 30/06/2005 E...

. SPRING
CALIPER
Code: 951
. BLEEDER VALVE
CALIPER
Code: -950-952+494

'J [005] From Chassis: A 870951 From Date: 19/08/2005

. BLEEDER VALVE
CALIPER
Code: 951

'J [003] From Chassis: A 874312 From Date: 30/06/2005 E...

. DUST CAP
CALIPER
Code: -950-952+494

'J [005] From Chassis: A 870951 From Date: 19/08/2005

.. DUST CAP
CALIPER
Code: 951
BRAKE ANCHOR
PARTS SET, LEFT
Code: -950-952+494

'J [005] From Chassis: A 870951 From Date: 19/08/2005

BRAKE ANCHOR
PARTS SET, RIGHT
Code: -950-952+494

'J [005] From Chassis: A 870951 From Date: 19/08/2005

TS DISK BRAKE PAD
PARTS KIT, WITHOUT

WEAR SENSOR

Code: 494+952/494+951

.J[431] WHEN SELLING BRAKE LININGS TO END USERS/DESK BUYERS TH...

BRAKE WEAR SENSOR
BRAKE WEAR INDICATOR FRONT RIGHT

Quantity

001

001

001

001

002

002

002

002

002

002

001

001

001

001

Copyright Daimler AG, 7/27/16 10:55 AM, EPC 1.31.3.2, DW 01/2014

Page 1




120

120

130

130

140

140

150

150

160

160

A 124 421 05 71

A 124 421 05 71

A 211 420 01 44

A 211 420 02 44

A 000 421 13 71

A 000 421 13 71

A 211 421 08 12

A 230 421 08 12

A 220 421 01 71

A 220 421 01 71

HEXAGON HEAD BOLT

BRAKE CALIPER TO STEER. KNUCKLE,
LEFT M12X1.5X35

HEXAGON HEAD BOLT

BRAKE CALIPER TO STEER. KNUCKLE,
RIGHT M12X1.5X35

PROTECTIVE PLATE

FRONT LEFT

PROTECTIVE PLATE

FRONT RIGHT

BOLT

COVER PANEL ON STEERING KNUCKLE
LEFT FRONT M6X12

BOLT

COVER PLATE TO STEERING KNUCKLE
FRONT RIGHT M6X12

BRAKE DISC

FRONT

Code: 494

J [005] From Chassis: A 870951 From Date: 19/08/2005
BRAKE DISC

FRONT

Code: 950/951/952/P96

-J[408] ONLY REPLACEABLE BY PAIRS
FITTED BOLT

BRAKE DISK AT WHEEL HUB, LEFT
M8X12

FITTED BOLT

BRAKE DISK AT WHEEL HUB, RIGHT
M8X12

002

002

001

001

003

003

002

002

001

001

Copyright Daimler AG, 7/27/16 10:55 AM, EPC 1.31.3.2, DW 01/2014

Page 2




	Front Brake Pic.pdf
	Front Brakes.pdf

